EROSEEEEPYF 1 P I IRFESEATA Y IAS

=% BBV AAYRI—=05T (6835Yards Par 72)
28 | 58128(K)
TYURD—: 1148
HiZ: 1108
V) BEl FhiE 237 V) Bl FhE 237 V) BEl FhE 237
1 K& g— AN 69  (36.33) BIK KRABB 7uvoemyr 81 (41,40) 82 wmE8 IF& =@ 88  (48.40)
2 2R i 71 (34.37) T E— mmaveu— 81 (41,40) Wil R =5 88  (46.42)
3 BN IRE mEt 72 (34,38) B =E IR 81 (40, 41) Al EX E=RAEAD 88  (46.42)
4 #B5S BRE teavkeavaz» 74 (38.36) BB gz FHA 81  (40.41) fIRN BE  EBW 88  (44.44)
S B =itEuK 74 (36.38) HUW iR B72 81  (40.41) Pz R 1@ 88  (42.46)
6 meEs —IE =@ 75  (38.37) BA G =WER 81  (39.42) R =R wgsts 88  (41.47)
j=2) S I 1) 75  (37.38) 47 B JER  TEEW 82  (43.39) I ZB  KEX 88  (41.47)
REB K¥E /4B 75  (35.40) AW EB orvizs— 82 (42.40) NBZESE mgBceiLx 88  (40.48)
9 KER— #rE 76 (39.37) HB BA #EBK 82  (41.41) R B2  EmTE 88  (40.48)
BE N =X 76 (38.38) B —3% FE=B 82  (41.41) 91 B52 —W8 smaouoms 89  (44,45)
HEBAN =xRAES 76 (37.39) T=E X )| 82  (40.42) AW G BAEEKR 89  (44.45)
B 1% EAED 76 (36.40) O #E  RAER 82  (39.43) TR BB »rrFcvs 89 (41.48)
13 KERB noE pomrs 77 (42, 35) st X SRREA 82  (38.44) 94 )| JE—BF BEFTY 90 (45, 45)
W) pES 77 (39.38) g B  emooems 82  (37.45) WA EZ mes 90 (45, 45)
pariR1 1575 S-<r=4 77 (39.38) UM & AN 82  (37.45) SRR K2 90  (45.45)
KB BB mEmrv 77 (39.38) 56 SA B Ovoel 83  (42.41) 28 ER =W 90  (44.46)
=M 68 siBX 77 (38.39) IR BB vrvson.Fz 83 (41,42 98 EIAN #F—EBB BBT2 91  (48.43)
B R orvuzs— 77 (38.39) as BX BAMI 83  (41.42) g R BAKEK 91 (47.44)
BRE BY s=xRAA® 77 (38.39) BH =X =FE 83  (39.44) 0B 88 mBcLx 91  (46.45)
il B55h  mEmr~ 77 (37.40) 60 BE BN Amz-mms 84 (46.38) BHIEE orvuzs— 91 (44.47)
= HE &= 77 (37.40) ZW & A 84  (44.40) g 858 #oys 91  (42.49)
2 B BE BEX 78 (42, 36) M ye— EHSST 84  (43.41) 103 B =X TiEstR 92 (44.48)
FE WA BB 78 (41.37) ZWl BR TBELR 84  (42.42) 104 FiE G BET 93 (49.44)
KNIR K# =@ 78  (40.38) 64 OAY ZBF  FEER 85  (43.42) 105 FH)I #th =% 94  (45.49)
25 55 v =7 78 (38, 40) =EEDM mFE 85  (42.43) 106 i H5h =& 96  (46.50)
- Mk REES— 66 (NE HB8 AHLRZPY 86  (47.39) 107 BN & =+ 98 (49, 49)
i R IR 78 (38. 40) INFR RG] Teamkea va=7 86 (45, 41) 108 AR Bk XA TIRA Y+ 99 (52, 47)
Bk BA  BEmEPY 78 (37.41) B= 2k =tieR 86  (43.43) %% Fx BARL @e
PR Bt @@ 78 (37.41) K E— = 86  (43.43) %% HBE B (P
29 BN ZEH  wiEK 79  (44.35) W &z T 86  (42.44) xS RE B2  TFELXR
HEL FETDED BRI 79 (40.39) B #E BARFREX 86  (42.44) xig BE BN Ar1UIo
3 EEEN  TEER 80  (43.37) S & B K 86 (40, 46) x5 LEEEZ sTorvil
S B BENI 80  (42.38) $FH FBIE  =movru— 86 (39.47) x5 S B TEETR
ITH B 80  (42.38) FE B KEXR 86  (39.47)
[RHE 5% s 80  (40. 40) 75 B E2AXEF oW 87  (45.42)
8K IEBl +vroc-nx 80  (39.41) e B— Fe2IfeE 87 (45,42
g 2T HBX 80  (39.41) M &=F0 BiE 87  (44.43)
& 288 BEX 80 (38,42 BN BE  mER 87  (43.44)
B =M BHWw 80  (38.42) Il &R #wWrE 87  (42.45)
=B ¥  mBeLx 80 (37.43) =0 B #e 87  (42.45)
0 £F B poIEE 81  (42.39) AR KR Juwoeowr 87 (41,46)



